nDECQO

Assembly Instructions

ITEMS:DOJT2004BVWB
DOJT2004BVGB

assembly need

Ww * 1 Hours




LT g ’/ g/@ﬂ//
A ™




T W




Part. Item. QTY.
A M5X45 26
B 26
C D8X30 22 &
D 2 a
E 4
F 4 L
G 1 e
H 4
I 4 &>
J 2 <)
K 4
L 4 v
M 4 =)

5X45mm bolt installation as below

Press bolt
into the

designated
location

STEP. 1

|Ié!|||!l|l|||

Connecting
piece

<@
nsert bolt when
onnectin iece unde i
uch condition

STEP. 2




~

A LS .SCREWS
A M5X45
~
. Co g 4pCS ¥
"B B
C S e 4pcs =
g 4. D C_ 0830
<A e . 4 PCS
P @B @ ) o R@B é = é 87
T 2
S
0\\\0 ﬁ
: Ul
1 3
.SCREWS
A M5X45
@ 4PCS =
B
ﬁ *Hammer isn't inside 4 PCS ¥
Accessary Pack
ﬂ C ?8X30
- e = 4PCS
U
% 1 % 2
1 2 3 4
.SCREWS
A M5X45
“w6PCS T
B
*Hammer isn't inside 6 PCS ¥
Accessary Pack
C ?8X30
_a “ 6PCS
@ U
2




~

.SCREWS
A M5X45
““@ 2 PCS e

B
2PCS o

.SCREWS

A M5X45
gy 10 Pcs¥

B
10 PCS Do

C @8X30
« 8 PCS

M

® 8 PCS

.SCREWS

D« 5 pcs

E'S 4pesde







	1
	图纸和视图
	模型


	2
	图纸和视图
	模型


	3
	图纸和视图
	模型


	4
	图纸和视图
	模型


	5
	图纸和视图
	模型


	6
	图纸和视图
	模型


	7
	图纸和视图
	模型


	04.pdf
	图纸和视图
	模型


	06.pdf
	图纸和视图
	模型





